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Second Term Unit Test, 201617
Sub. : Physics
Time : 1:30 Hrs. | Class — X1 [ M. M. : 40
Instructions : :
(1) Attempt all questions. —_ T — -

(2) Question Nos. 1-5 carry I mark each.

(3) Question Nos. 6-10 carry 2 marks each.

(4) Question Nos. 11-15 carry 3 marks each. §i RN,
(5) Question Nes. 16 and 17 carry 5 marks each. o >
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5 o h o gt ' V=i
I. If a . b=0,thenisit necessary that a & b be perpendicular to each other?
’/:://2. What is impulse? Write its dimensions also.
2"/%"' a cricketer while taking a catch moves his hands backwards?.
jfﬁhyduwasﬁp on a muddy road?

5 A light & a heavy body have the same kinetic energy. Which one will have

larger momentum?
ff HEF 5t + 2 find v. where a is acceleration & v is velocity.
5 —+ - =» -+

- -+ -
¥ Ia=3i+4j-2%, b=2i-2j+kfind a — b, modof 8 andmodof b.
B/Smte&pmvewurk-ennrgythﬂnrm
/g Fmdthe.mammmapeadwrm'ﬁhmhacarufmass lﬂﬂﬂkgcantakcacﬂmernfmdms
20m, if p=0.5. \ b ;[nﬁ»——-*
;If'.', State & prove conservation ufmnmmmnn,
t/},l/.‘ Prove that second law of motion is the real law of motion.
12. The moment of force factingata pointpismxf,r=3i+j—-2k & f=i+j+k, find cross
I
product of r & f.
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3. A monkey of mass 40kg climbs on a rope which can with stand a max. tension of

600 N. In which of the following cases the rope will break :

(a) Monkey climbsup with an aceeleration of 6 m/s

(b) Monkey climbs down with an acceleration of 4 m/s?

(¢) Monkey elimbs up with a uniform spoed of 5 m/s.
Jﬁ.//S\howﬂmtangleufmpm:iscqmltnmﬁimm of friction also define angle of repose.
97, Showthatten 0 =ylie firba@Wioed. 17T _

: .Whuthtajeﬂmy?Fw;&ﬁmile{npﬁm,-ﬁnd/r%, _ haight&aqu?iénnf
/l‘;* For resolution of two vectors a & b, find ; '
resultant (R) & direction 6 of vector with resultant.
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